
LEADING IN PRODUCTION EFFICIENCY

www.durr.com

Description
The EcoRP 10 R1100 is a six-axis robot with the 
maximum reach of 1,100 mm and a total payload of up 
to 10 kg. Equipped with paint application technology  
for 1K and 2K applications, high- and low pressure as 
well as water- and solvent-borne paint, the 
EcoRP 10 R1100 is the perfect choice for electrostatic 
and other paint application, that serves the 
requirements in various industries.

The interaction of robot and high-speed rotating 
atomizer convinces through maximum repeatability 
and continuous precision. The paint can be charged by 
high voltage which achieves an improved transfer 
efficiency of up to 90 %. The maintenance 
requirements are reduced to a minimum due to the 
modular design and the lifetime lubrication.

Customer Benefits
»» Explosion proof robot with 6 axis and a reachability 

of 1.100 mm
»» Flexible control system for motion and process
»» Various interfaces to connect with third party 

devices (e.g. Line-PLC)
»» Suitable for wall, ceiling or floor installation
»» Modern user interface 
»» All common paint processes are supported 

(Bell / Gun, 1K / 2K, High- / Low-Pressure)
»» ready2spray: Preassembled equipment for fast 

ramp up time

Paint Robot 
ready2spray paint robot: EcoRP 10 R1100
N92010001V



EcoRP 10 R1100
N92010001V

Dürr Systems AG | Application Technology | Carl-Benz-Str. 34 | 74321 Bietigheim-Bissingen | Germany
T: +49 7142 78 - 0 E: industrial.products@durr.com W: webshop.durr.com Da
te

 o
f i

ss
ue

 0
8/

20
17

 - 
©

20
17

 D
ür

r S
ys

te
m

s 
AG

 –
 A

ll 
rig

ht
s 

re
se

rv
ed

 –
 T

ec
hn

ic
al

 c
ha

ng
es

 re
se

rv
ed

 –
 Il

lu
st

ra
tio

ns
 n

ot
 o

bl
ig

at
or

y.

Specification

Reachability 1.101 mm
Payload 10 kg
Mounting position Floor, Ceiling, Wall
Number of axis 6
Supply voltage 380 – 480 V
Frequency 50 - 60 Hz
Operating temperature +5 - 45 °C
Protection class IP67
Weight 64 kg
Inlet air pressure min 6 bar
Inlet air pressure max 8 bar
Max. air volume 1.600 Nl/min
Max. No. of colors 10
Processes 1K / 2K
Atomizers Bell / Gun
ATEX Marking Ex II 2G IIC T4

Dimensions Technical Illustration

Dosing

Atomizers

Colour
Changers

Mounting

EcoGun AS AUTO

EcoGun AA AUTO

EcoGun AL AUTO

EcoBell2 SL DC

EcoMCC3 20

Fluid board

EcoMCC 200

EcoFlow LPF

Floor Wall Ceiling

EcoPump9 GW

EcoBell2 SL EC

All dimensions in mm



EcoRP 10 R1100
N92010001V

Dürr Systems AG | Application Technology | Carl-Benz-Str. 34 | 74321 Bietigheim-Bissingen | Germany
T: +49 7142 78 - 0 E: industrial.products@durr.com W: webshop.durr.com Da
te

 o
f i

ss
ue

 0
8/

20
17

 - 
©

20
17

 D
ür

r S
ys

te
m

s 
AG

 –
 A

ll 
rig

ht
s 

re
se

rv
ed

 –
 T

ec
hn

ic
al

 c
ha

ng
es

 re
se

rv
ed

 –
 Il

lu
st

ra
tio

ns
 n

ot
 o

bl
ig

at
or

y.

Accessories

Part No. Description
E09060502 Connection cable flange package gr. 5m
E09060503 Connection cable flange package gr. 10m
M24010343 Clamping piece 61x60c45 D20, 1 Al
N32500026 Mixer complete extern atomizer D6, 35L310
N34960016 Repair kit for N34850018
N44050015 Atomizer seat L140 EcoBell EC
N65040001 Hand earthing stick
W02020187 Installation tool Assembly Cover EcoBell
W02020255 Installation tool Assembly EcoBell2
W02100113 Set of installation tools F. N34150003 A
W12600018 Special Cutter\GWD-Reinig. EcoBell2 DS18x
W50020096 Case cpl. For HT checking device EN50176
N08010047 Beaker 100ml with bore D4
N08010053 Beaker 100ml with bore D2
N08010054 Beaker 100ml with bore D6
N36960038 Cleaning kit 21 pc
N36960088 Ring set, 5 colors
W32020010 Grease tube 100G Syntheso GLEP 1
M01010210 Connection pipe M36x1 D40 L41
M34040021 Paint pipe
M41090179 Locking screw G1/4" i/a
M55030173 Elbow screw con. Adjust. G1/4"-1/4"NPS
N08010032 Feed cup 125ml G3/8" with filter 0,23
N08010034 Feed cup 600ml G3/8" with filter 0,23
N36960142 Connector kit Robot US
N36960148 Lock kit
N36960186 Cup connection cpl.G1/4" SST
N66030005 Bracket
N36960141 Connector kit Robot EU
M48010221 Plug D16 L15,5 VA5
W02020019 Installation tool Valve
W02020275 Installation tools Needle seat valve HD
F30310001 EcoAUC 1K DC 1PPR EU 2 N N N 10 Y
M54360212 Return check vlave insert nipple cpl. D6
M58030125 Insertion nipple cpl. 9x12 L26,9 VA5
M58030134 Insertion nipple cpl. 6x9 L26,9
M58030136 Insertion nipple cpl. 4x6 L24
N34150001 EcoBell2 SL External Charge

Accessories

Part No. Description
N34150002 EcoBell2 SL Direct Charge
N34770091 Flange Package EcoBell2 SL WAR EWS L5m
N36210005V EcoGun2 AS AUTO
W02100049 Tool kit for installation EcoMCC3
M57030038 Elbow screw connection cpl. 4x6 D3,3 90°
M57030039 Elbow screw connection cpl. 6x9 D5 90°
N10190001 Metering unit GW 20 w/o drive EC
N10190002 Metering unit GW 20 w/o drive IC
N23150057 Digital servomotor 0,8Nm 9000rpm
N23150066 Digital servomotor 0,8Nm 9000U 2G
N23150067 Digital servomotor 0,8NM 9000U UL
M19100396 Angle 85x60x50 f. Hand-LPF single AL
M19100397 Angle 120x50x50 f. 2 manual PPR Al
W02020048 Installation tools Orientat. Diaphragm
M54300503 Ball valve G1/4" i/a
M01539915 HS connection kpl.5m external chatging
M01010201 Connection 11/16"-16UNa 1/2"-20UNFi
M19140001 Extension 150mm 11/16"-16UN
M19140002 Extension 300mm 11/16"-16UN
M19140003 Extension 450mm 11/16"-16UN
M19140005 Extension 600mm 11/16"-16UN
M19140004 Extension 900mm 11/16"-16UN
M22150012 Swivel joint
M55070374 Screw-in fitting M14x1,5 - 1/4"NPSM d6
N36960089 Filter set (5 pcs)
W33130004 Cleaning needle 33mm 0,011"-0,017" 12pcs
W33130005 Cleaning needle 33mm 0,017"-0,021" 12pcs
E09060504 Connection cable flange package HT 5m
E09060505 Connection cable flange package HT 10m
N34850018 Add.on unit atomizer 60° with lock
N44050010 Atomizer seat L140 EcoBell
W02100112 Set of installation tools f.N34150004 DA
W12600006 Tool for cleaning EcoBell2 Thread M18x1
M19023792 Bracket EcoFlow HP
W02020241 Installation tools Needle HP regulator
W02020244 Installation tools Special packing
W07010302 Pressure gauge 0-400bar G1/2"



EcoRP 10 R1100
N92010001V

Dürr Systems AG | Application Technology | Carl-Benz-Str. 34 | 74321 Bietigheim-Bissingen | Germany
T: +49 7142 78 - 0 E: industrial.products@durr.com W: webshop.durr.com Da
te

 o
f i

ss
ue

 0
8/

20
17

 - 
©

20
17

 D
ür

r S
ys

te
m

s 
AG

 –
 A

ll 
rig

ht
s 

re
se

rv
ed

 –
 T

ec
hn

ic
al

 c
ha

ng
es

 re
se

rv
ed

 –
 Il

lu
st

ra
tio

ns
 n

ot
 o

bl
ig

at
or

y.

Spare Parts

Part No. Description
M35030174 Air cap CF (conv.) 0,5-0,8mm
M35030175 Air cap CF (conv.) 1,0-1,2mm
M35030176 Air cap CF (conv.) 1,3-1,6mm
M35030177 Air cap CF (conv.) 1,8-2,5mm
M35030178 Air cap CF (conv.) 3,00mm
M35030170 Air cap LF (LVLP) 0,5-1,2mm
M35030173 Air cap LLF (LVLP) 3,0mm
M35030179 Air cap SF (conv.) 0,5-0,8mm
M35030180 Air cap SF (conv.) 1,0-1,2mm
M16040091 Atomizer housing f. cpl.f.M16040090 DTLP
N66030004 Backet EcoGun
N16310004 Bell Disc\D55 GR0,4 VS-D22 EcoBell A
N16310005 Bell Disc\D55 STK VS-D22 EcoBell AS
M01010207 Connection D40 L41 M36x1 SST
M01010200 Connection media DN8
N32030058 Control valve EcoBell2 SL EC
M56110426 Double nipple G1/4"a-G1/4"a L24 SST
N34770092 Flange Pack. EcoBell2 SL WAR EWS L10m
N34770091 Flange Pack. EcoBell2 SL WAR EWS L5m
M08280029 Gasket
M08280027 Gasket D7 s2,7 PTFE
M30030099 Hexagon nut M3,5 VA
M01530016 HS connection kpl.10m external charging
M01530015 HS connection kpl.5m external charging
M55170052 L screw fitting 1/4"NPT x 1/4"
M55170053 L screw fitting 1/4"NPT x 3/8"
M55170051 L screw fitting G1/4" 6mm
M08220019 Leak-proof collar (4 pcs)
M25010065 Locking cap with latching
N36960096 Locking screw kit
M08320002 Needle gland
M09020143 Nozzle d0,7 M6x075 external purging VA5
M09020144 Nozzle d0,9 M6x075 external purging VA5
M09020145 Nozzle d1,1 M6x0,75 external purge VA5
M09800332 Nozzle set 0,5mm
M09800344 Nozzle set 0,5mm TiN
M09800333 Nozzle set 0,8mm
M09800345 Nozzle set 0,8mm TiN
M09800334 Nozzle set 01,0mm
M09800398 Nozzle set 05SF
M09800399 Nozzle set 08SF
M09800346 Nozzle set 1,0mm TiN
M09800335 Nozzle set 1,2mm

Spare Parts

Part No. Description
M09800347 Nozzle set 1,2mm TiN
M09800336 Nozzle set 1,3mm
M09800348 Nozzle set 1,3mm TiN
M09800337 Nozzle set 1,4mm
M09800349 Nozzle set 1,4mm TiN
M09800338 Nozzle set 1,5mm
M09800350 Nozzle set 1,5mm TiN
M09800339 Nozzle set 1,6mm
M09800351 Nozzle set 1,6mm TiN
M09800340 Nozzle set 1,8mm
M09800352 Nozzle set 1,8mm TiN
M09800400 Nozzle set 10SF
M09800401 Nozzle set 12SF
M09800341 Nozzle set 2,0mm
M09800353 Nozzle set 2,0mm TiN
M09800342 Nozzle set 2,5mm
M09800354 Nozzle set 2,5mm TiN
M09800343 Nozzle set 3,0mm
M09800355 Nozzle set 3,0mm TiN
M09800296 Nozzle set CF (conv.) 0,5mm certified TiN
M09800212 Nozzle set CF (conv.) 0,8mm certified
M09800297 Nozzle set CF (conv.) 0,8mm certified TiN
M09800214 Nozzle set CF (conv.) 1,0mm certified
M09800298 Nozzle set CF (conv.) 1,0mm certified TiN
M09800216 Nozzle set CF (conv.) 1,2mm certified
M09800299 Nozzle set CF (conv.) 1,2mm certified TiN
M09800217 Nozzle set CF (conv.) 1,3mm certified
M09800300 Nozzle set CF (conv.) 1,3mm certified TiN
M09800218 Nozzle set CF (conv.) 1,4mm certified
M09800301 Nozzle set CF (conv.) 1,4mm certified TiN
M09800219 Nozzle set CF (conv.) 1,5mm certified
M09800302 Nozzle set CF (conv.) 1,5mm certified TiN
M09800220 Nozzle set CF (conv.) 1,6mm certified
M09800303 Nozzle set CF (conv.) 1,6mm certified TiN
M09800221 Nozzle set CF (conv.) 1,8mm certified
M09800304 Nozzle set CF (conv.) 1,8mm certified TiN
M09800222 Nozzle set CF (conv.) 2,0mm certified
M09800305 Nozzle set CF (conv.) 2,0mm certified TiN
M09800223 Nozzle set CF (conv.) 2,5mm certified
M09800306 Nozzle set CF (conv.) 2,5mm certified TiN
M09800224 Nozzle set CF (conv.) 3,0mm certified
M09800307 Nozzle set CF (conv.) 3,0mm certified TiN
M09800210 Nozzle set CF (conv.)0,5mm certified



EcoRP 10 R1100
N92010001V

Dürr Systems AG | Application Technology | Carl-Benz-Str. 34 | 74321 Bietigheim-Bissingen | Germany
T: +49 7142 78 - 0 E: industrial.products@durr.com W: webshop.durr.com Da
te

 o
f i

ss
ue

 0
8/

20
17

 - 
©

20
17

 D
ür

r S
ys

te
m

s 
AG

 –
 A

ll 
rig

ht
s 

re
se

rv
ed

 –
 T

ec
hn

ic
al

 c
ha

ng
es

 re
se

rv
ed

 –
 Il

lu
st

ra
tio

ns
 n

ot
 o

bl
ig

at
or

y.

Spare Parts

Part No. Description
M09800225 Nozzle set LF (LVLP) 0,5mm certified
M09800284 Nozzle set LF (LVLP) 0,5mm certified TiN
M09800226 Nozzle set LF (LVLP) 0,8mm certified
M09800285 Nozzle set LF (LVLP) 0,8mm certified TiN
M09800227 Nozzle set LF (LVLP) 1,0mm certified
M09800286 Nozzle set LF (LVLP) 1,0mm certified TiN
M09800228 Nozzle set LF (LVLP) 1,2mm certified
M09800287 Nozzle set LF (LVLP) 1,2mm certified TiN
M09800229 Nozzle set LF (LVLP) 1,3mm certified
M09800288 Nozzle set LF (LVLP) 1,3mm certified TiN
M09800230 Nozzle set LF (LVLP) 1,4mm certified 
M09800289 Nozzle set LF (LVLP) 1,4mm certified TiN
M09800231 Nozzle set LF (LVLP) 1,5mm certified
M09800290 Nozzle set LF (LVLP) 1,5mm certified TiN
M09800232 Nozzle set LF (LVLP) 1,6mm certified
M09800291 Nozzle set LF (LVLP) 1,6mm certified TiN
M09800233 Nozzle set LF (LVLP) 1,8mm certified
M09800292 Nozzle set LF (LVLP) 1,8mm certified TiN
M09800234 Nozzle set LF (LVLP) 2,0mm certified
M09800293 Nozzle set LF (LVLP) 2,0mm certified TiN
M09800235 Nozzle set LF (LVLP) 2,5mm certified
M09800294 Nozzle set LF (LVLP) 2,5mm certified TiN
M09800236 Nozzle set LF (LVLP) 3,0mm certified
M09800295 Nozzle set LF (LVLP) 3,0mm certified TiN
M09800211 Nozzle set SF (conv.) 0,5mm certified
M09800213 Nozzle set SF (conv.) 0,8mm certified
M09800215 Nozzle set SF (conv.) 1,0mm certified
M09800397 Nozzle set SF (conv.) 1,2mm certified
M08030770 O-ring 4,0x1,2 75 shore Viton extr.
M08010522 Packing ring D9 d7,5 s1 PTFE
M67010082 Piston axis compl.
M68010223 Pressure spring needle
N36960098 Repair kit
N34960004 Repair kit EcoBell2 paint pipe
N34960002 Repair kit for M16040091
N34960017 Repair kit for mixer N32500026
N34960008 Repair kit for N07110017
N34960014 Repair kit for N160010043/44/N16310004/05
N34960006 Repair kit for N21010139/0152/0153
N34960007 Repair kit for N21010139/152/153 LLR
N34960005 Repair kit for N32030058
N34960012 Repair kit for N34770091
N34960003 Repair kit for shaft lock

Spare Parts

Part No. Description
M57930010 Restrictor compl.
M57310083 Screwed elbow push-in connection D6 R1/8
M57310089 Screwed elbow push-in connection D8 G1/4
N36960097 Sealing kit
M03010361 Seat seal cpl.
D09120365 Socket head screw M5x16 DIN912 PA6.6
M30050074 Special nut
M30050072 Special nut EcoGun ATM IV
M30050073 Special nut M12x1 s6,5 SST
N07110017 Supercharger equipment 6x TK240 EcoBell
N36960129 Tool and connector kit
N36960019 Tool kit
M30010274 Union nut M86x2
N32610001 Valve unit 200bar G1/8"
M01130227 Connecting strip 10x HP MCC SST
M06130022 Clamping extension D9 L13 M5 VA6
M08010266 Packing ring d6,0 D11,5 s2 POM
N14960001 Repair kit needle seat EcoMCC 200
N14960002 Repair kit LP-gaskets EcoMcc 200
N14960003 Repair kit HP-gaskets EcoMCC 200
N14960004 Repair kit air piston EcoMCC 200
M08030613 O-ring 28x1,5 FKM
M08010111 Packing ring d6,0 D8,5 s2 POM
N40120035 Connecting strip term. Ie EcoPlug 1-time
N40120033 Connecting strip standard EcoPlug 1-time
N32300008 Control valve dead end SE4
N32300009 Control valve circulation SE4
M01130135 Connection strip 1x G1/8" left SST
M08190015 Special packing EcoMCC3 PP
M57380083 Screwed plug-in connection adapter G1/8
M19030027 Mounting rail TS35x15
N24290001 Metering pump 3,0ccm purgeable SE9
N32290003 Control valve BY+V DP SE9 w. valve SE6
M01020250 Terminal block SE9 VA5
M08010497 Packing ring d4,5 D9,9 s2,4 SW FFKM
D09140097 Set screw M6x8 DIN914 1.4301
M41110053 Socket head screw M5x30 hex. Socket SST
M41060152 Special screw M16x1,5 L26 DP SE9 POM
M54390085 Press.relief valve DN4 M16x1,5 16bar SE9
M08010332 Packing ring d9 D9,9 s2 PE-UHMW
M01020227 Terminal block insertion nipple SST
D09120220 Socket head screw M4x10 DIN912 1.4301
D00070052 Shaft pin 3m6x6 DIN7 1.4305



EcoRP 10 R1100
N92010001V

Dürr Systems AG | Application Technology | Carl-Benz-Str. 34 | 74321 Bietigheim-Bissingen | Germany
T: +49 7142 78 - 0 E: industrial.products@durr.com W: webshop.durr.com Da
te

 o
f i

ss
ue

 0
8/

20
17

 - 
©

20
17

 D
ür

r S
ys

te
m

s 
AG

 –
 A

ll 
rig

ht
s 

re
se

rv
ed

 –
 T

ec
hn

ic
al

 c
ha

ng
es

 re
se

rv
ed

 –
 Il

lu
st

ra
tio

ns
 n

ot
 o

bl
ig

at
or

y.

Spare Parts

Part No. Description
M08160024 Packing screw with O-ring
M39030044 Contact disc D25 D10H7 B17 DP SE9
D09130030 Set screw M5x5 DIN913 1.4301
N24960023 Sealing kit EcoPump9 complete
N24960022 Sealing kit EcoPump9 water seal
N24290008 Metering pump 4,5ccm purgeable SE9
N24290005 Metering pump 1,0ccm non-purgeable SE9
M33090266 Clamping plate SE9
E22010016 Pressure sensor 0-25bar 4-20mA f. EcoMCC
N24290006 Metering pump 2,0ccm non-purgeable SE9
N24290003 Metering pump 0,45ccm non-purgeable SE9
M08500003 Diaphragm kit f. LPF 1:1
D09120165 Socket head screw\M5x40 DIN912 1.4301
M08010175 Packing ring d5,0 D8,5 s2 POM
N26960005 Repair kit EcoFlow LPF P
M01130223 Connecting strip 2x HP MCC SST
M48010221 Plug D16 L15,5 VA5
M08030621 O-ring\13x1,5 75SHORE FFKM
M08030733 O-ring 13x1,5 80SH A FKM green
M01130224 Connecting strip 4x HP MCC SST
M09020381 Nozzle 0,23mm 60°
M09020418 Nozzle 0,48mm 40°
M09020404 Nozzle 0,38mm 80°
M09020393 Nozzle 0,33mm 50°
M09020419 Nozzle 0,48mm 50°
M09020420 Nozzle 0,48mm 60°
M09020382 Nozzle 0,28mm 10°
M09020423 Nozzle 0,48mm 90°
M09020401 Nozzle 0,38mm 40°
M09020409 Nozzle 0,43mm 40°
M09020405 Nozzle 0,38mm 90°
M09020380 Nozzle 0,23mm 50°
M09020417 Nozzle 0,48mm 30°
M09020408 Nozzle 0,43mm 30°
M09020416 Nozzle 0,48mm 20°
M09020402 Nozzle 0,38mm 60°
M09020387 Nozzle 0,28mm 60°
M09020425 Nozzle 0,53mm 20°
M09020389 Nozzle 0,33mm 10°
M09020421 Nozzle 0,48mm 80°
M09020424 Nozzle 0,53mm 10°
M09020400 Nozzle 0,38mm 40°
M09020410 Nozzle 0,43mm 50°

Spare Parts

Part No. Description
M09020383 Nozzle 0,28mm 20°
M09020376 Nozzle 0,23mm 10°
M09020399 Nozzle 0,38mm 30°
M09020394 Nozzle 0,33mm 60°
M09020390 Nozzle 0,33mm 20°
M09020385 Nozzle 0,28mm 40°
M09020391 Nozzle 0,33mm 30°
M09020392 Nozzle 0,33mm 40°
M09020444 Nozzle 0,70mm 30°
M09020407 Nozzle 0,43mm 20°
M09020398 Nozzle 0,38mm 20°
M09020378 Nozzle 0,23mm 30°
M09020403 Nozzle 0,38mm 70°
M09020406 Nozzle 0,43mm 10°
M09020415 Nozzle 0,48mm 10°
M09020395 Nozzle 0,33mm 70°
M09020414 Nozzle 0,43mm 90°
M09020413 Nozzle 0,43mm 80°
M09020445 Nozzle 0,70mm 40°
M09020412 Nozzle 0,43mm 70°
M09020396 Nozzle 0,33mm 80°
M09020397 Nozzle 0,38mm 10°
M09020442 Nozzle 0,70mm 10°
M09020431 Nozzle 0,53mm 80°
M09020432 Nozzle 0,53mm 90°
M09020433 Nozzle 0,60mm 10°
M09020434 Nozzle 0,60mm 20°
M09020435 Nozzle 0,60mm 30°
M09020436 Nozzle 0,60mm 40°
M09020411 Nozzle 0,43mm 60°
M09020446 Nozzle 0,70mm 50°
M09020447 Nozzle 0,70mm 60°
M09020437 Nozzle 0,60mm 50°
M09020375 Nozzle 0,18mm 40°
M09020377 Nozzle 0,23mm 20°
M09020386 Nozzle 0,28mm 50°
M09020438 Nozzle 0,60mm 60°
M09020374 Nozzle 0,18mm 30°
M09020373 Nozzle 0,18mm 20°
M09020450 Nozzle 0,70mm 90°
M09020439 Nozzle 0,60mm 70°
M09020449 Nozzle 0,70mm 80°
M09020448 Nozzle 0,70mm 70°



EcoRP 10 R1100
N92010001V

Dürr Systems AG | Application Technology | Carl-Benz-Str. 34 | 74321 Bietigheim-Bissingen | Germany
T: +49 7142 78 - 0 E: industrial.products@durr.com W: webshop.durr.com Da
te

 o
f i

ss
ue

 0
8/

20
17

 - 
©

20
17

 D
ür

r S
ys

te
m

s 
AG

 –
 A

ll 
rig

ht
s 

re
se

rv
ed

 –
 T

ec
hn

ic
al

 c
ha

ng
es

 re
se

rv
ed

 –
 Il

lu
st

ra
tio

ns
 n

ot
 o

bl
ig

at
or

y.

Spare Parts

Part No. Description
M09020372 Nozzle 0,18mm 10°
M09020440 Nozzle 0,60mm 90°
M09020388 Nozzle 0,28mm 70°
M09020379 Nozzle 0,23mm 40°
M09020384 Nozzle 0,28mm 30°
M09020426 Nozzle 0,53mm 30°
M09020427 Nozzle 0,53mm 40°
M09020428 Nozzle 0,53mm 50°
M09020429 Nozzle 0,53mm 60°
M09020430 Nozzle 0,53mm 70°
M09020443 Nozzle 0,70mm 20°
M35030078 Air cap 40-130° 6-KT
M35030077 Air cap 10-30° 6-KT
M30010332 Union nut
N36960100 Tool and connector kit
N36960101 Sealing kit
N36960099 Repair kit
M67010085 Piston piston axis cpl.
M08220022 Leak-proof collar (4 pcs)
N36960132 Needle kit
M56100470 Reducing nipple M10 1/4" SST
M68010238 Pressure spring d2 D9,5 Lo33,4
M68010241 Pressure spring
M08280049 Gasket
M08010529 Packing ring D13,5 d10,5 s1 Al
M41060166 Special screw with packing washer
M32020215 Needle part cpl.
M08320002 Needle gland
M08220020 Leak-proof collar  
M08080062 Packing washer
M30050079 Special nut M3 SW10 L7 Ms
M30050076 Special nut M3 SW4 D5,6 L15 Ms
M30050073 Special nut M12x1 s6,5 SST
M09020476 Noozle 0,18mm 20°/207" reversible nozzle
M09020477 Noozle 0,23mm 10°/109" reversible nozzle
M09020478 Noozle 0,23mm 20°/209" reversible nozzle
M09020479 Noozle 0,23mm 30°/309" reversible nozzle
M09020493 Noozle 0,33mm 70°/713" reversible nozzle
M09020494 Noozle 0,33mm 80°/813" reversible nozzle
M09020495 Nozzle 0,38mm 10°/115" reversible nozzle
M09020496 Nozzle 0,38mm 20°/215" reversible nozzle
M09020525 Nozzle 0,58mm 30°/323" reversible nozzle
M09020475 Nozzle 0,18mm 10°/107" reversible nozzle

Spare Parts

Part No. Description
M09020526 Nozzle 0,58mm 40°/423" reversible nozzle
M09020527 Nozzle 0,58mm 50°/523" reversible nozzle
M09020528 Nozzle 0,58mm 60°/623" reversible nozzle
M09020529 Nozzle 0,58mm 70°/723" reversible nozzle
M09020530 Nozzle 0,58mm 80°/823" reversible nozzle
M09020531 Nozzle 0,58mm 90°/923" reversible nozzle
M09020532 Nozzle 0,63mm 30°/325" reversible nozzle
M09020533 Nozzle 0,63mm 40°/425" reversible nozzle
M09020534 Nozzle 0,63mm 50°/525" reversible nozzle
M09020535 Nozzle 0,63mm 60°/625" reversible nozzle
M09020502 Nozzle 0,38mm 80°/815" reversible nozzle
M09020518 Nozzle 0,53mm 30°/321" reversible nozzle
M09020519 Nozzle 0,53mm 40°/421" reversible nozzle
M09020520 Nozzle 0,53mm 50°/521" reversible nozzle
M09020503 Nozzle 0,43mm 10°/117" reversible nozzle
M09020504 Nozzle 0,43mm 20°/217" reversible nozzle
M09020505 Nozzle 0,43mm 30°/317" reversible nozzle
M09020506 Nozzle 0,43mm 40°/417" reversible nozzle
M09020507 Nozzle 0,43mm 50°/517" reversible nozzle
M09020508 Nozzle 0,43mm 60°/617" reversible nozzle
M09020509 Nozzle 0,43mm 70°/717" reversible nozzle
M09020510 Nozzle 0,43mm 80°/817" reversible nozzle
M09020511 Nozzle 0,48mm 20°/219" reversible nozzle
M09020512 Nozzle 0,48mm 30°/319" reversible nozzle
M09020513 Nozzle 0,48mm 40°/419" reversible nozzle
M09020514 Nozzle 0,48mm 50°/519" reversible nozzle
M09020515 Nozzle 0,48mm 60°/619" reversible nozzle
M09020516 Nozzle 0,48mm 70°/719" reversible nozzle
M09020517 Nozzle 0,48mm 80°/819" reversible nozzle
M09020518 Nozzle 0,53mm 50°/521" reversible nozzle
M09020519 Nozzle 0,53mm 50°/521" reversible nozzle
M09020521 Nozzle 0,53mm 60°/621" reversible nozzle
M09020522 Nozzle 0,53mm 70°/721" reversible nozzle
M09020523 Nozzle 0,53mm 90°/921" reversible nozzle
M09020524 Nozzle 0,53mm 80°/821" reversible nozzle
M09020486 Nozzle 0,28mm 60°/611" reversible nozzle
M09020487 Nozzle 0,33mm 10°/113" reversible nozzle
M09020489 Nozzle 0,33mm 30°/313" reversible nozzle
M09020491 Nozzle 0,33mm 50°/513" reversible nozzle
M09020497 Nozzle 0,33mm 30°/315" reversible nozzle
M09020498 Nozzle 0,38mm 40°/415" reversible nozzle
M09020485 Nozzle 0,28mm 50°/511" reversible nozzle
M09020484 Nozzle 0,28mm 40°/411" reversible nozzle



EcoRP 10 R1100
N92010001V

Dürr Systems AG | Application Technology | Carl-Benz-Str. 34 | 74321 Bietigheim-Bissingen | Germany
T: +49 7142 78 - 0 E: industrial.products@durr.com W: webshop.durr.com Da
te

 o
f i

ss
ue

 0
8/

20
17

 - 
©

20
17

 D
ür

r S
ys

te
m

s 
AG

 –
 A

ll 
rig

ht
s 

re
se

rv
ed

 –
 T

ec
hn

ic
al

 c
ha

ng
es

 re
se

rv
ed

 –
 Il

lu
st

ra
tio

ns
 n

ot
 o

bl
ig

at
or

y.

Spare Parts

Part No. Description
M09020490 Nozzle 0,33mm 40°/413" reversible nozzle
M09020559 Nozzle 0,78mm 90°/931" reversible nozzle
M09020481 Nozzle 0,28mm 10°/111" reversible nozzle
M09020558 Nozzle 0,78mm 80°/831" reversible nozzle
M09020557 Nozzle 0,78mm 70°/731" reversible nozzle
M09020556 Nozzle 0,78mm 60°/631" reversible nozzle
M09020555 Nozzle 0,78mm 50°/531" reversible nozzle
M09020554 Nozzle 0,78mm 40°/431" reversible nozzle
M09020553 Nozzle 0,78mm 30°/331" reversible nozzle
M09020552 Nozzle 0,73mm 90°/929" reversible nozzle
M09020551 Nozzle 0,73mm 80°/829" reversible nozzle
M09020550 Nozzle 0,73mm 70°/729" reversible nozzle
M09020549 Nozzle 0,73mm 60°/629" reversible nozzle
M09020548 Nozzle 0,73mm 50°/529" reversible nozzle
M09020536 Nozzle 0,63mm 70°/725" reversible nozzle
M09020537 Nozzle 0,63mm 80°/825" reversible nozzle
M09020538 Nozzle 0,63mm 90°/925" reversible nozzle
M09020539 Nozzle 0,68mm 30°/327" reversible nozzle
M09020540 Nozzle 0,68mm 40°/427" reversible nozzle
M09020501 Nozzle 0,38mm 70°/715" reversible nozzle
M09020541 Nozzle 0,68mm 50°/527" reversible nozzle
M09020500 Nozzle 0,38mm 60°/615" reversible nozzle
M09020499 Nozzle 0,38mm 50°/515" reversible nozzle
M09020492 Nozzle 0,33mm 60°/613" reversible nozzle
M09020488 Nozzle 0,33mm 20°/213" reversible nozzle
M09020483 Nozzle 0,28mm 30°/311" reversible nozzle
M09020482 Nozzle 0,82mm 20°/211" reversible nozzle
M09020542 Nozzle 0,68mm 60°/627" reversible nozzle
M09020543 Nozzle 0,68mm 70°/727" reversible nozzle
M09020480 Nozzle 0,23mm 40°/409" reversible nozzle

Spare Parts

Part No. Description
M09020544 Nozzle 0,68mm 80°/827" reversible nozzle
M09020545 Nozzle 0,68mm 90°/927" reversible nozzle
M09020546 Nozzle 0,73mm 30°/329" reversible nozzle
M09020547 Nozzle 0,73mm 40°/429" reversible nozzle
M60020001 Nozzle guard
N36960059 Piston kit
N36960060 Fluid valve kit S 11/16"-16 UN (3-pcs)
N36960103 Repair kit piston spring
M08280043 Gasket needle A
M08030807 O-ring 10,8x1,8 PTFE white
M01010199 Connection media swivel M14x1,5
M08030861 O-ring\11x1,8 FKM
M01130225 Connecting strip 6x HP MCC SST
N32030056 Control valve EcoBell2 SL DC
M16040099 Atomizer housing cpl. EcoBell SL HX
M11080215 Intermediate flange EcoBell2 SL HX
E09400059 Fibre optic cable f. rpm meas. EcoBell2
D79910016 Countersunk bolt M5x20 DIN7991 8.8 Z St
N34960009 Repair kit for N32030056
N34960010 Repair kit for N21010139/0152/0153 FFKM
N34960011 Repair kir for M16040099
N34960013 Repair kit for GT N16010064/0065
N34960016 Repair kit for N34850018
N16310020 Bell Disc\D52 O.R.VS-D40 EcoBell2
N16310021 Bell Disc\D52 Gr0,4 VS-D40 EcoBell2
M48010016 Plug D28 d24,6 h9 GPN300 PE
M68010001 Pressure spring d2,8 Dm21,0 Lo26,0 VA9
M08510051 Diaphragm flat D160 t1,5 EPDM
N26960001 Repair kit EcoFlow HPR/HPF P
N26960002 Repair kit EcoFlow HPF P



EcoRP 10 R1100
N92010001V

Dürr Systems AG | Application Technology | Carl-Benz-Str. 34 | 74321 Bietigheim-Bissingen | Germany
T: +49 7142 78 - 0 E: industrial.products@durr.com W: webshop.durr.com Da
te

 o
f i

ss
ue

 0
8/

20
17

 - 
©

20
17

 D
ür

r S
ys

te
m

s 
AG

 –
 A

ll 
rig

ht
s 

re
se

rv
ed

 –
 T

ec
hn

ic
al

 c
ha

ng
es

 re
se

rv
ed

 –
 Il

lu
st

ra
tio

ns
 n

ot
 o

bl
ig

at
or

y.

Order code

EcoRP 10 R1100

Option 
Order 
code

Order 
code Option

Mounting Field Bus System
Floor Mounted FM PN ProfiNet
Wall Mounted WM EC EtherCAT
Ceiling Mounted CM EP EtherNet I/P
Pressure Range Teachpendant
20 bar 20 N Not Ex-Proof
200 bar 200 Return line
Atomizer Y Yes
EcoBell2 EC EC N No
EcoBell2 DC * DC Certification
EcoBell2 HRZ HRZ EU EU
EcoGun AS AUTO pro HD AS UL UL*
EcoGun AA AUTO AA Dosing pump catalyst
EcoGun AL AUTO AL 045 0.45 ccm
Bell Disk 100 1.0 ccm
Serrated SE 200 2.0 ccm
Not serrated NSE N None
None N Dosing pump paint
Process 300 3.0 ccm
1K 1K 450 4.5 ccm
2K 2K N None
Number of colors Dosing systems
2 2 DP Dosing Pump
4 4 PPR Paint Pressure Regulator
6 6 Number of catalysts
8 8 1 1
10 10 3 3

N None
* available Q4/2017 



LEADING IN PRODUCTION EFFICIENCY

www.durr.com

Dürr – Leading in Production Efficiency

Five divisions, one goal: maximum production efficiency for our customers

»» Paint and Final Assembly Systems: paint shops and final assembly systems for the automotive industry
»» Application Technology: robot technologies for the automatic application of paint as well as sealants and 

adhesives
»» Measuring and Process Systems: balancing and cleaning systems as well as testing and filling technology
»» Clean Technology Systems: exhaust-air purification systems and energy-efficiency technology
»» Woodworking Machinery and Systems: machinery and systems for the woodworking industry

Where to buy?
All products can be obtained from our distributor network.  
Contact us to find out your nearest Dürr industrial product supplier. 


